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{E{E#HI#E(value network)
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NATIONAL SUN YAT-SEN UNIVERSITY

MA Entrance Examination
Subject: English
Human Resource Management Department
Spring 2011

This exam consists of a Grammar and Vocabulary part, and a Reading Comprehension part. The total
number of questions is 50 (2 points per correct answer). You have 100 minutes for this exam.
e For the Grammar and Vocabulary part, choose the word or phrase that fits best in the blank of

the given sentence.
e Tor the Reading Comprehension part, choose the answer that comes closest to the meaning of

the text.

Grammar and Vocabulary

1. I admire how singer Lady Gaga manages to her audience.

a. captivate b. capture c. calculate d. calibrate
2. Screen doors offer a lot of benefits. they help keep out insects.

a. As long as b. For instance, c. If d. When

3. Janet tried all sorts of drugs to get rid of her cold, without success. she tried acupuncture.
a. Hopeless, b. For example, c. Regardless, d. Finally

4. When hungry, .

a. this restaurant is the place you want to be!
b. food smells so deliciously.

c. your energy just goes downhill.

d. one can think of nothing but food.

5. Australia and Brazil both affected by severe floods recently.

a. have been b. are being c. were to be d. could be

6. My cat’s name is Sweetie and she really lives that name.

a. like b. according to c.upto d. following
7. Even life’s worries are too much for her to handle.

a. money b. petty c. relationship d. painful

8. So many people these days want to a career in Human Resource Management!

a. get b. undertake c. pursue d. start

9. People Ronald Reagan, becaﬁse they talk with such admiration about him.

a. like b. liked c. must have liked  d. might have liked
10. I took a taxi in order not to be late, but I missed my plane.

a. still just b. still almost c. nearly still d. hardly ever
11. Some people take Pierre for a Frenchman, but , he is Canadian.

a. obviously b. meanwhile c. actually d. factually




1
te
gt

: B P K21002FEB L HBAERAA
#B EX [AZmBELERE] |

12. Steffen, __, lives in South Korea these days.
a. is one of my best friends but he

b. is one of my best friends who

c. one of my best friends who

d. one of my best friends

13. It is a complete to me why Korean soap operas have become so popular in Taiwan.

a. mystery b. surprise c. miracle d. wonder

14. We know now that in this country, presidents cannot money laundering any longer.

a. catch up with b. put up with c. run out of d. get away with
15. I would buy a 3D television if wear those silly glasses.

a. you should not have to  b. you would not have to c.Icould d. you would

16. Carla would not a word about what Charles did to her last night.
a. be telling b. understand c. show d. utter

17. I'm sorry to say that I haven’t spoken to Jeff since we had that .
a. falling out b. quarreling c. misdemeanor d. going on

18. Iforgot to buy eggs, so there aren’t in the refrigerator.

a. no eggs b. there c. any d. inside

19. I'would say he looks old nor young, except when he is tired: then he looks old.

a. either b. both c. seldom d. neither

20. The youngest contestant seemed to be the of the two award winners.

a. most happy b. happier c. happiest d. more happy

21. We are out of milk. Here, you take the last cup.
a. completely b. almost c. soon d. hardly

22. You really would have liked my grandmother, if you .

a.could havemether -  b. should have met her c. do meet her d. will meet her
23. running a marathon is hard to do, it also can be very rewarding.

a. Although b. Notwithstanding c. However d. Due to

24. The old professor spoke in . _voice.

a. a extremely faint b. a very faint c. a very faintly d. a fainting

25. Not only did Mariska want to learn how to go mountain climbing, but also

a. to go swim b. to swim c. swimming d. how to swim
26. I haven’t seen Michael for years may even have moved away from Kaohsiung.

a. because he b.; he c. ; he therefore d. while he

27. Yes, she has a nice voice, but her looks are absolutely to her success as a singer.

a. conducive b. pivotal c. constructive d. alluring




#E By [A%mraELmi]

I P REL008 F E 2R 5238 4 A E

28. Her husband insisted she home with him, even though she would have liked to stay longer.
a. come b. came c. went d. returned

29. Do yourself a favor: get your car to a garage and ! It’s just too dangerous to keep driving it
like this! ’

a. repair it b. have it repair c. make it repair d. have it repaired
30.  their best efforts, newspapers are losing the battle with internet news sources.

a. Thanks to b. Doing c. In spite of d. Due to

31. Did they phone to say arrive?
a. when they would b. they would when c. would they when d. we will then

32. If that is what you think I meant, you obviously didn’t see what I was .
a. expecting b. getting at c. addressing d. expostulating

33. If I knew then what I know now I handled this situation differently.
a. would have to have b. would have c. maybe have d. should have

34. Even though he keeps his mouth shut, he his daughter’s lifestyle.

a. frowns on b. disapproves c. suffers from d. dissuades
35. I cannot believe he a whole bag of potato chips in less than ten minutes!
a. eats b. has been eating c. was eating . d.ate

36. A trip to the North Pole is danger.

a. extremely b. filled with c. fraught with d. fearfully
37.1am so I could cry!

a. boring b. exciting c. bored d. painful
38. Once parents get really old, children do best to their every whim.

a. appease b. obey c. forgive d. humor
39. When she first was pregnant she could not the smell of coffee in the morming.

a. pick up b. distinguish c. appreciate d. abide
40. How did the police that Carlos was the murderer?

a. determine b. investigate c. inveigle d. defray

Reading Comprehension
Indians with money love to shop. Annoyingly for retailers, so do Indians without money. A recent

survey found the highest level of “shrinkage” (losses from shoplifting, theft by workers, and
accounting errors) in India. Goods worth 2.72% of sales went walkabout. In Taiwan, the best
performer, only 0.87% did. This is because Indian shops have not yet learned how to protect their
stock. Fifteen years ago Taiwanese shops had one of the worst rates of shrinkage in the world, but
they took measures to improve it.

In America, light-fingered employees are a bigger problem than thieving shoppers. In Europe,
it is the other way around. Worldwide, crooked staff have better opportunities to steal than ordinary

shoppers. Per incident, they pinch ten times more. -
(Adapted from The Economist, October 23 2010, page 71)
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41. That Indians without money love to shop is annoying for shopkeepers because

(2) those Indians only look and never buy

(b) those Indians cause “shrinkage” since they cause the number of spending Indians to decrease
(c) those Indians are more likely to resort to shoplifting

(d) those Indians cause accounting errors in the shopkeepers books

42. Taiwanese shops have the lowest percentage of shrinkage because

(a) they have implemented measures to protect their stock

(b) the number of Taiwanese without money has decreased sharply in the last fifteen years
(c) Taiwanese employees are not as light-fingered as American employees

(d) In Taiwan, fewer sales go walkabout

43. In America, the problem of shrinkage is

(a) more a problem of shoplifting than of theft of sales attendants
(b) more of a problem than in Europe

(c) similar to the problem in Europe

(d) more a problem of theft by sales attendants than of shophftlng

* 44. Worldwide, crooked staff pinch ten times more per incident than ordinary shoppers. This means:
() Europe is an exception to this rule because thieving shoppers are a bigger problem there
(b) a typical theft by crooked staff is ten times bigger than a typical theft by an ordinary shopper
(c) America must have many more shops because there it is employees who mostly steal
(d) using crooked staffs in shoplifting is ten times more profitable than shoplifting with ordinary
staffs

45. This article has the least to say about

(a) reducing shrinkage by improving accounting methods

(b) reducing shrinkage by improving measures to protect stock
(c) differences in shrinkage trends in various parts of the world
(d) differences between shrinkage in India and in Taiwan

sk

Thin air, thick smog, and bad drivers make Mexico City hard going for cyclists. But a new fleet of
1200 smart red “Ecobici” pay-as-you-go rental bikes, at 85 docking stations, mark the most ambitious
recent addition to a global trend of municipally endorsed cycling. Since February 7000 people have
signed up, and between them they have taken more than 200,000 trips.

The paradox of urban cycling is that bad traffic is both deterrent and incentive. When
demonstrations or traffic-signal failures bring Mexico’s streets to gridlock, businessmen can be seen

strapping their briefcases onto Ecobicis.
(Adapted from The Economist, July 17 2010, p. 54)

46. The 1200 “Ecobici” are called “smart” because they
(2) are part of an intelligent system of docking stations
(b) are attractive looking

(c) are pay-as-you-go

(d) are less hard going than other bicycles

47. The “Ecobici” fleet is part of a global trend of city governments
(a) stimulating cycling as a way of relieving traffic problems

(b) attempting to raise revenue by initiating bicycle renting schemes
(c) attempting to address bad driving habits of citizens

(d) stimulating healthy exercise in their citizens
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48. Bad traffic is a deterrent to urban cycling because

(a) it prevents one from cycling quickly to one’s destination

(b) it makes for an unpleasant and potentially dangerous bicycle ride
(c) it may lead to damage and fines to one’s pay-as-you-go rental bike
(d) on a bicycle one cannot look smart in the midst of bad traffic

49, Bad traffic is an incentive to urban cycling because

(2) one is less vulnerable to accidents on a bicycle than in a car

(b) bicyclists, unlike motorists, can get away with ignoring traffic lights

(c) Thin air and thick smog affects the performance of cars but not of bicycles

(d) on a bicycle, unlike in a car, one can weave through gridlock and reach one’s destination quicker

50. Businessmen of Mexico City can be seen strapping their briefcases to Ecobicis when they

() want to get ready for gridlock caused by demonstrations and traffic-light failures

(b) want to participate in demonstrations against traffic-signal failures

(c) want to escape traffic jams caused by demonstrations and traffic-signal failures

(d) cannot secure their briefcases with a gridlock due to demonstrations and traffic-signal failures

End of the English Entrance Examination




By L RLI002EEELPE e ZRNRE

FE AN ETREEEEIN [ATmELETH]

EE— (50 %)

FEFRERUFRBLANFELEEEEER ) TEHNEERAETT ¢

HEE LIRS 5% FERELA65%H LR AFILFIRDF 3% - RATH
ZHEHREETELHUERLR Y% BEFERLELGE 99%UE » MHIEE
BEES o F L p A 70%

AGER I RARLGEARIHERE  F2RASEREF 1 &M FIRF
GEHLAMEETE NGBk FERENEFOE ) THhEFHEERMAFRE
3% ; BRIBEER] - FBREERELE  EEABLERAREIBE ) ARLAFHRERE
BATH T LEHEX EHRATLAABLC ML REHEEARBHTESR -

BATE IR 50% TAE £ T, ~ 20%3R4T ~ 15% %3 ~ 15%F 48 » ERUATAEHR
B 0 JEER T0% I AR ~ 30% T AE SR B RAF AL AH B 4k 0 BRMEMMAES
HgiTE e E RFLEBRMBE -

T3 TATELE, MA RATE  EPAFXFRECHITA4S BT
L5 T LD ABS] 0 RABBT% 0 ENEREHNFTEUEAE » BT R 85%A
ER '

EELEAMBERTL LEEADESY  REFMALERTESLF2RE
OB TEE 0 $3) EHBZ AL - |

25 mEHNEE  TREBFEIEEERNLE > wRTBHFETRELT
HERy EFAHETHRBDEHRTE -

1) AN BTRSEGEIL - RA S E MR A T 2374 (performance
appraisal) F a9 AR L34 8 7 (30 o)
2) REE G EEENEEAMT?205)

BE=:(50 %)

A ETE TR BEWEATEAEAME —FBTFTARMBT  #HASL
E2EH AMEIRBES RS XHRAT  ABRAS —HHEHH TR RA AL
e LB BFESEF HEEHERE  EHTH  BAHPIRZIHIZEEHE
{EtbiBiE— B RS HECEH T —CEE®R LE BAFFAKATHEE ¥
MR ABRKRIER  BRARAAPTEHOEALRIBE SRt —EF
BRA A THEICANELEURMBE EFHITHAT Bl 0 BRI
A AERABETUREBCTE - BRABSROGEELE  HFH
1) wREENHEH > CEEREFIFBWETBELHHESR? AHE? (25

)

2) WRERERAEE  CeMATER?FhRRaEEeRet - (259)




